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Guess Paper – 2008

Class – X
Subject – Mathematics
Time: 3 hours  







Max. Marks: 80
SECTION-A                                                                                         Marks: 10x1=10
1.  Use Euclid’s division algorithm to find the HCF of 188 and 316
2.  Find the zeroes of the polynomial 2x2+5x+2
3.  If (-4) is root of the quadratic equation x2+px-4=0, find p.
4.  If CosecA = √2   Verify Cosec2A = 1 + Cot2A.

5.  If nth term of an A.P is (2n+3) find the common difference.
6.  State Pythagoras theorem.
7.  If 
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8.  Find the area of the sector with radius 7cm if angle of the sector is half of right angle.
9.  If probability of an event E is 2/3 find the probability of not the event E. 
10.  For a distribution, if   pxMode = qxMedian + rxMean .Find p, q, r
SECTION-B                                                                                             Marks: 5x2=10
11. Find the length of the second diagonal of a rhombus whose side is 5cm and one of the diagonal is 6cm.                                 
12. A bag contains 5 red, 7 white and 9 blue balls. A ball is drawn at random. What is the probability that of drawing (i) a non blue ball (ii) a non white ball?      

13. Find the distance of the point P (3, 4) from the mid point of the segment joining points A (-2, 5) and B (6, 3).          (OR)

      Find the coordinate of the point which divides the line segment joining the points      (-5,-2) and (9, 5) in the ratio 3:4
14. If Sin (2A+B) = √3/2 and Sec (2A-B) = 2/√3 Find A and B.
15. Find the value of k so that the linear equations x+(K+1)y = 5 and (K+1)x+9y=8K-1 have infinitely many solutions .
SECTION :C                                                                                         Marks: 10x3=30
16. On dividing x3+x2+x-2 by a polynomial g(x) the quotient and remainder were 

      x2+2x +1 and 2x-1 respectively. Find g(x).  (OR)  
       If two zeroes of a polynomial 2x4+x3-14x2-19x-6 are (-2) and (-1).  Obtain other two zeroes.           
17.  Draw the graphs of 2x+y =6 and 2x-y = (-2) Also find the area of the triangle formed by the lines representing these equations and X-axis.
18. Find the sum of all integers between 100 and 300 which leaves remainder 1 when divided by 5
19. If the points (4,-1), (3/2, 0), (-3/2, -1) are the mid points of the vertices of a triangle. Find its vertices. 
20. Prove that the points (a, 0), (0,b) and (1,1) are collinear, if 
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21. A manufacturer of washing machine produced 600 machines in the third year and 700 machines in the seventh year.  Assuming that the production increases uniformly by a fixed number every year, find (i) the production in the first year (ii) the production in the 15th year (iii) the total production in the first 10 years.
[image: image5.png]22. On a circular table cover of radius 32cm a design is formed leaving an equilateral triangle ABC in the middle as shown in the figure. Find the area of the shaded region.







23.  Prove that 
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24. Construct an isosceles triangle whose base is 8cm and altitude 4cm and then another triangle whose sides are 3/2 times the corresponding sides of the isosceles triangle.
 25. Prove that the parallelogram circumscribing a circle is a rhombus. (OR)
   Prove that the sum of the squares of the sides of a rhombus is equal to the sum of the squares of its diagonals.
SECTION-D                                                                                              Marks: 5x6=30
26. A bucket made of aluminium sheet is of height 20cm and its upper and lower ends are of radii 25cm and 10cm respectively.  Find the cost of making the bucket if the aluminium sheet costs Rs.70 per 100 cm2.    (OR)

 From the solid cylinder whose height is 2.4cm and radius 0.7cm, a       conical cavity of the same height and same diameter is hollowed out.  Find the total surface area of the remaining solid to the nearest cm2.

27. Find the  median of the following data.
	class
	More 

than 150
	More

than140
	More 

than 130
	More 

than  120
	More 

than 110
	More 

than 100
	More

than 90
	More

than 80

	Frequ
	0
	10
	29
	60
	104
	134
	151
	160


  28.    A takes 10 days less than the time taken by B to finish a piece of work.  If both A  and B together can finish the work in 12 days, find the time taken by B to finish the  work.
29. From the top of a 15m high building, the angle of elevation of the top of a tower is found to be 300.  From the bottom of the same building, the angle of elevation of the top of the tower is found to be 450.  Determine the height of the tower and the distance between the tower and the building.
30. Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sides.  Using the above to solve the following:  ABC and BDE are two equilateral triangles such that D is the mid-point of BC.  Find the ratio of the areas of triangles ABC and BDE.     (OR)
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      In a triangle if square of one side is equal to the sum of the square of the other two sides, then the angle opposite the first side is a right angle. Prove it. Using the above to prove the following.  ABC is an isosceles triangle with AC = BC.  If AB2= 2AC2, then it is a right triangle.
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